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I Source for prohibition of NN n%ax for RNV (assumed in our Mwn)
a  YRynw 1 owa pny 1 v. 1 - something which is equal to all of 177R’s children — nnyIn; prohibited to nyrnv
i Challenge: perhaps it refers to 1w ntn
ii  Answer: isn’t given to a “returning” 102 na (from dissolved marriage with non-1n3 and no children)
iii ~ Challenge: NN not given to a n5Yn
iv. Defense: n99n not called 17nR 1
b Challenge: perhaps verse refers to j27p n192 (e. g with y¥m a1, mentioned there) on 8 day
i Defense: YRynw " identified o&nv in v. as “mini” »78m ar (ar who only saw 2x, y7¥n who was never
vYMIN) = no N9, just YN 17y 12710 ,NYav nav
ii  Possibility: perhaps when “mini”, may eat immediately; perhaps if “complete” y13¥m a1, need n193
1 Parallel: source for ruling that:
(a) After ablution: may eat w"yn
(b) After nightfall: may eat nmn
(c) After 7797 may eat »WTP
iii  Answer: (RTon " DW1 R11) 3 verses:
1 V2: emphasis on 1720 (0’02 1792 N7 DR %) - for Twyn
2 V2: emphasis on wnw 2990 (1001 wnwn R1) - for NN
3 V3: emphasis on 129p nRan (77001 1030 1YY 1901) - for WP
iv  Challenge: perhaps nm1n is eaten immediately, w”yn after nightfall
1 Argument: 7wyn has 1”0 v"1n
(a) Dpn nraN :0 (must eat in JM) (d) ®nvaapaY NNoR:v
(b) wYn N T (e) NP PRY NRMYIL YR :2
(c) MRY MOR :D
2 Counterl: nmn has r"ann — nnn trumps all
3 Counter2 (K17): v. 2 refers to wa1 — something accessible to all (7wyn, not "mn)
v Remaining question: how do I know that even a N193 na may eat nmIn at wnw 17yn?
1  »ar: 2 verses in context of N9 NNV —v. 3/v. 4
(a) v.3-—refers to 127p — applies to »WTP NYIR
(b) v.4 -refers to days — applies to nmn (j27p clearly more stringent since v”yp19
(i) in addition (X17): when the 113 is 90N her, she must be “knv” until now — must be
that she was able to eat nm7n and not really nknv (otherwise she would violate v. 5)
2 challenge: (R"28772 NWY ") N7 NWIa cannot refer to NMIN; it addresses even mmawy i (v. 6)
(a) block (¥37): v. 4 (yan 8Y WP 931) includes NN
(i) Rather: distribution of application
3 Need for 3 verses in re NN
(a) 1Y R 7Y — unclear vehicle of MY > VY YHVD R
(b) 7nVY WNWYN R — R"7D only refers to non-n193 92 > NNV M’ NRHND TY
(c) nRYHN 1Y — R™D even without n%20 >NV’ VR TY
4 xin who disagrees with » (v. 1 refers to “complete” y72m ar) and 1002 IR TY=n123 (re: DVTP)
(a) question: why the need for 2 p10a in re: DWTP (v. 1 and nTHv)
(i) ifonly 2r R"10 ~=n79» who has longer nrmv
(ii) If only n751: ®™0O ~=11, since she has n’n (to her husband) during nrmv m?
vi  Question: Need for v. 7 (must be re: nm1n; we already know from v. 2 that it needs wnw 217yn)
1 Answer: for ny»» (may not touch nm N as oy Y110)
(a) Additionally: 900 refers to 7wyn (DY 912V may touch v’yn)
(b) Alternatively: nmINT NY”31 MOR may come from v. 4, even though it must refer to n9an
(juxtaposed to wTpn nNrva [N n 21N, text uses "an” to teach nYIR:NYM
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